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Instructions to the Examinee :

1.

Do not open the booklet unless you are

asked to do so.

The booklet
Examinee is required to answer any 50
OMR Answer-Sheet
provided and not in the question booklet. If

contains 60 questions.

questions in the
more than 50 questions are attempted by

then the first attempted 50
questions will be considered for evaluation.

student,

All questions carry equal marks.

Examine the Booklet and the OMR Answer-
Sheet very carefully before you proceed.
Faulty question booklet due to missing or
duplicate pages/questions or having any
should be got

other  discrepancy

immediately replaced.

(Remaining instructions on the last page)
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3.

Raj-3077 is a variety of :
(A) Barley
(B) Wheat
(®)

(D)

Oat

Mustard

The first critical stage of irrigation in

wheat is :
(A)
(B)
(®)
(D)

CRI

Tillering

Milking

None of the above

The sowing depth of wheat in late

condition is :

(A)
(B)
(©)
(D)

3cm
5cm
7cm

6 cm

‘Haritima’ is a variety of :
(A)  Wheat
(B) Barley
(C) Oat

Berseem

(D)

Set-A
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The Net Blotch disease of barley is
caused by :

(A) Helminthosporium teres sacc.

(B) Helminthosporium sativum

(C) Both (A)and (B)

(D) None of the above

Barley crop requires temperature at

maturity :

(A) 20°C
(B) 25°C
(C) 30°C
(D) 35°C

Which is not prepared from potato ?

(A) Wine

(B) Acetic acid

(C) Paper

(D) Farina and Alcohol

Which crop is called as king of cereal
crops ?

(A)  Wheat

(B) Barley

(C) Oat

(D) Paddy

Set-A
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10.

11.

12.

The cash crop is/are :
(A) Sugarcane

(B) Mustard

(C) Lentil

(D) All of the above

The most important first Indian pulse
crop is :

(A) Lentil

(B) Chickpea

(C) Fieldpea

(D) Pigeonpea

The crop grown in all three seasons under
U.P. conditions is :

(A)  Wheat

(B) Chickpea

(C) Sunflower

(D) Lentil

The causal organism of wilt disease in
chickpea is :

(A) Fusarium oxysporum F. sp. ciceris

(B) Uromyces fabae
(C) Erysiphe poligoni

(D) None of the above

Set-A
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14.

15.
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13.

14.

15.

Malviya Vishwanath is a variety of :

(A) Fieldpea

(B) Lentil

(C) Chickpea

None of the above

(D)

The color of oil in oilseed crops is due

to:

(A) Chlorophyll

Carotenoids

(B)

(C) Both (A) and (B)

None of the above

(D)

Pusa Jugannath is a variety of :
(A) Mustard
(B) Toria
(C) Chickpea

(D) Fieldpea

Set-A



16. GGl Pl d9] N T : 16. The seed rate of mustard is :

(A) 6-8 ol /2. (A) 6-8 kg/ha.
(B) 4-6 fou. /2. (B) 4-6 kg/ha.
(C) 59 f&ur /= (C) 5-9 kg/ha.
(D) 8-10 fouT. /2. (D) 8-10 kg/ha.

17. Rifd &= & @fRar w9a & faw 17.  The NPK recommendation for Toria crop

w9 . B R § nmgated area s :

(A)  90-40-40 fpUT. T, @ B /2. (A) 90-40-40 kg NPK/ha.

(B) 50-40-40 U, UH. 41 @. /%, (B) 50-40-40 kg NPK/ha.

(C) 60-30-30 fhum. U4, 41 @. /%, (C) 60-30-30 kg NPK/ha.

(D) Suga H A Bl el (D) None of the above
18, WREl ol B B BT IGE B R - 18. The main insect of mustard family crops

is :

(A) g (A) Aphid

(B) 3IRT Hawd! (B) Sawfly

(C) oll% AR (C) Leaf minor

(D) Sugad FI (D) Al of the above

AG-4001 (7) Set-A



19. s YoIfd © ¢ 19. Modern is a variety of :

(A) JRogE! Bl (A) Sunflower

(B) S3TeRi B (B) Oilseed

(C) a4l &l (C) Mustard

(D) SWE ¥ | FIg el (D) None of the above
20. el ¥ ¥rd Bl B : 20.  Starch in potato tuber is :

(A) 20 e (A) 20 percent

(B) 14 wfoera (B) 14 percent

(C) 22 vl (C) 22 percent

(D) SUYa H § I el (D) None of the above

21, Ol B 999 e TAEh 21. The largest producer state of mustard

3 is:

(A) ST IS (A) U.P.
(B) XISTRITH (B) Rajasthan
(C) T Uu (C) M.P.
(D) &Ra (D) Haryana

AG-4001 (8) Set-A



22. 3¢ B A F FTRT R F IH W 22. The spacing of potato in late condition

S iS:

(A) 60 x 25 I, (A) 60 x 25 cm

(B) 50 x 20 94 (B) 50 x 20 cm

(C) 45 x 15 94, (C) 45 x 15cm

(D) SWE ¥ | TS el (D) None of the above

23. 3 # olc «gc §MN BT BRG Boly 23, The late blight of potato caused by a

5 fungus is :
(A) HISCIRIRT IHicd (A) Phytophthora infestans
(B) 3MeeAIRAT et s (B) Alternaria solani
(©) T (A) 3R (B) (C) Both (A)and (B)
(D) SUYd H § I el (D) None of the above
24, IR dPHAIPI ST AT § 24. The Agro-technique topping is related
to:
(A) e ¥ (A) Potato
(B) wxal W (B) Mustard
(C) AR (C) Fieldpea
(D) TR ¥ (D) Lentil

AG-4001 (9) Set-A



25. U1 ¢1-303 USId © 25.  PT-303 is a variety of :

(A) axar ol (A) Mustard
(B) IR B (B) Toria
C) TR (C) Lentil
(D) 3Tt B (D) Potato

26. TR Dl gcus; @ 99 JUYdd  qHY 26. The most optimum time of sowing of

3. lentil is :

(A) " IR (A) Mid October

(B) 3fFCER DI A e (B) Last week of October

(C) JdcE} DI YYH HKile (C) First week of October

(D) RIGRR &1 YoM 9q8 (D) First week of September
27. WAl Yo ® 27.  Khadravi is a variety of :

(A) T B (A) Mustard

(B) Reiar @l (B) Lucerne

(C) XM Bl (C) Berseem

(D) ¥R B (D) Fieldpea

AG-4001 (10) Set-A



28.

29.

30.

AG-4001

I S8 FY fham o A

(A) 3 A

(B) T H

(C) =T ¥

(D) SWE & W B &l

SR YT @ U & H e @) A
BRI §

(A) 30-35 . /%

(B) 25-30 . /%

(C) 30-40 fHuT. /%

(D) 40-50 fB. /%,

el oIt @
(A) ¥R DI
(B) 3fer<l @l
(C) AR B

(D) TR @I

(11)

28.

29.

30.

Blind hoeing agriculture practice is done
in:

(A) Potato

(B) Chickpea

(C) Sugarcane

(D) None of the above

The seed rate of linseed in rainfed area of

U.P.is:

(A) 30-35 kg/ha.

(B) 25-30 kg/ha.

(C) 30-40 kg/ha.

(D) 40-50 kg/ha.

Parvati is a variety of :

(A) Fieldpea

(B) Linseed

(C) Toria

(D) Lentil

Set-A



31.

32.

33.

34.

AG-4001

Ioll (1922) & SR ¥ (et )
BT IIRT WIH B

(A) TRRT AER

(B) #Rd

(C) UM

(D) SUE F F PIE Tel
A5-2 Ul 3

(A) Roar o

(B) UM @l

(C) T &l

(D) ¥R B

Yt SR XU fovam S @
(A) TR

(B) =T H

(C) Ivai H

(D) #eX H
HRIRVRRAT AR Bl el AT &
(A) 20-25 THI. 9T

(B) 30-35 THI. 9

(C)  40-45 TH). T

(D) 35-40 ¥, A

(12)

31.

32.

33.

34.

The origin place of Rai (Brassica juncia)
according to Balley (1922) is :

(A) Asia Minor

(B) India

(C) China

(D) None of the above

Anand-2 is a variety of :

(A) Lucerne
(B) Berseem
(C) Chickpea

(D) Fieldpea

Propping and wrapping is done in :
(A) Sunflower

(B) Sugarcane

(C) Mustard

(D) Fieldpea

Normally water requirement of fieldpea is :
(A) 20-25cm of water
(B) 30-35cm of water
(C) 40-45 cm of water

(D) 35-40 cm of water

Set-A



35. Uz @I 3T gig @ foU Sawyd AUmHA 35. The temperature required for proper

3. growth of oat is :
(A) 25-30°C (A) 25-30°C
(B) 15-25°C (B) 15-25°C
(C) 30-35°C (C) 30-35°C
(D) 15-20°C (D) 15-20°C

36. I UG & MR W IR dlell wlg § 36, The crude protein on dry matter basis in

Fedl YIeH 9T STl © fodder oat is :

(A) 18-20 Ufcrerd (A) 18-20 percent
(B) 13-14 Yfcrerd (B) 13-14 percent
(C) 20-21 Ufcrerd (C) 20-21 percent
(D) 30-31 Yfcrerd (D) 30-31 percent

37. Y USRS & AWR W R®AW H Pl 37. The crude protein content in Berseem on

T IR ST & dry matter basis is found :
(A) 20-21 Yfcrerd (A) 20-21 percent
(B) 24-25 Hfcrerd (B) 24-25 percent
(C) 20-25 Hfcrerd (C) 20-25 percent
(D) 25-26 Ufcrerd (D) 25-26 percent

AG-4001 (13) Set-A



38. SIEIfom T fshar @ Wl ®© ¢ 38. Dehaulming process is done in :

(A) e A (A) Potato
(B) i (B) Mustard
(C) e (C) Toria
(D) o H (D) Chickpea

39. 2020 § TNl BT GIW 99T SUCH QI 39.  Which country is the largest producer of

S 2 pulses in 2020 ?
(A) ¥Rd (A) India
(B) 3MR®T (B) U.S.A.
(C) =M (C) China
(D) oI (D) Japan

40. YRT ¥ Al BT Gad € IACH I 40. Which state is the largest producer of

PHE-AT T ? mustard in India ?
(A) T YST (A) M.P.
(B) R Uy (B) U.P.
(C) RIoTIH (C) Rajasthan
(D) fd&R (D) Bihar
41, 9Rd # foolgd Sded # oM WY 41. Which is the first producing state of
PHE-TT T ? oilseed in India ?
(A) TR YT (A) Uttar Pradesh
(B) ¥ U<Y (B) Madhya Pradesh
(C) NISTRITH (C) Rajasthan
(D) IER (D) Bihar

AG-4001 (14) Set-A



42.

43.

44,

45.

AG-4001

feres Scured # gl fbas $RUT gs ?

(A) Urell wifd

(B) WfeTd UG Il & WA & BRI
(C) A9 yomferdl @& HROT

(D) Rifed & 987 & R

YRA H Id9M Qe Sre foaer € ?

(A) 31074 HI. T4
(B) 32050 HI. T
(C) 16575 HI. <A

(D) 29575 HI. <A

qy 202021 § T B SR bl
g 7?

(A) 1113 Hgd e

(B) 105.00 Hifg® e

(C) 106.75 Hifg® e

(D) 11050 Hilgd e

qy 2021 @ G ARG H Vg B I

IS IUTEHh g -7 & 7

(A) T YST
(B) ST U
(C) UuE

(D) ERarom

(15)

42.

43.

44,

45.

What caused the increase in oilseed

production ?

(A) Yellow revolution
(B) Due to the use of balanced nutrients
(C) Due to recent varieties

(D) Due to increase in irrigated area

What is the current foodgrain production

in India ?

(A) 310.74 MT
(B) 320.50 MT
(C) 165.75MT

(D) 295.75 MT

What is the production of wheat in
2020-21 year ?

(A) 111.3MT

(B) 105.00 MT

(C) 106.75 MT

(D) 110.50 MT

Which state is the largest producer of
wheat in India in 2021 ?

(A) Madhya Pradesh

(B) Uttar Pradesh

(C) Punjab

(D) Haryana

Set-A



46.

47.

48.

AG-4001

el Sgre] YIEH -4 IR < d
Bl & ?

(A) TR P A

(B) 3R DI Tel

(C) T @I T

(D) ¥R DI T

I 3BT AN fhE wed &
g ?

(A) o

(B) Rerar

(C) UM

(D) TR

I BN THIdl | HeR B SR Bl
& T

(A) 20-25 fdaed /3.

(B) 25-30 fdacd /2.

(C) 15-20 fdacdt /2.

(D) 12-15 fdaca /2.

(16)

46.

47.

48.

Which Indian pulses are rich in

protein ?

(A) Lentil Dal
(B) Pigeonpea Dal
(C) Chickpea Dal

(D) Fieldpea Dal

Which crop is the best fodder ?

(A) Oat
(B) Lucerne
(C) Berseem

(D) Napier

With improved agro-techniques, fieldpea

yield is about :

(A) 20-25 g/ha.

(B) 25-30g/ha.

(C) 15-20 g/ha.

(D) 12-15g/ha.

Set-A



49. HX BT YT GRUAIR 2 49. The major weed of fieldpea is :

(A) Te-He (A) Chatri-Matri
(B) 9l (B) Bathua
(C) woh (C) Senji
(D) oWl (D) Gajri
50. 3Toldl @ Wil § UM BIaT § ¢ 50. Linseed cake contains ............... protein.
(A) 30 yfcrerd (A) 30 percent
(B) 40 yfarerd (B) 40 percent
(C) 44 wfoer (C) 44 percent
(D) 25 Hfoera (D) 25 percent
51, &9 H9d 3 51. The catch crop is :
(A) wEr (A) Mustard
(B) R (B) Toria
(€ A (C) Lentil
(D) = (D) Chickpea
52. WRA ¥ T & P SURH I 3 : 52. Major sugarcane producing state in India
is :
(A) TREH 9T (A) West Bengal
(B) TR Uy (B) Uttar Pradesh
(C) uumd (C) Punjab
(D) ToiRId (D) Gujarat

AG-4001 (17) Set-A



53. IR Tl BIF-Ul B TSSO ReRIBROT

Tl PR © 2
(A) IH
(B) Rera@r
© %

(D) fdar

54. S gl HHd §
A T
(B) 3feril
(C) Iai
(D) g
55. T+ @1 g G §
(A) fae
(B) =T
C) ¥

(D) SWF ¥ 4§ DIE T

56. U< H 3IRTE! WRUAAR & :

(A) T T el
(B) 3e-TTel el

(C) qud: et TR}
(D) 3Fg-aT TRoTd!

AG-4001

(18)

53.

54.

55.

56.

Which fodder crop does not

nitrogen ?
(A) Berseem
(B) Lucerne
(C) Oat

(D) Lobia

Day neutral crop is :
(A)  Wheat

(B) Oilseed

(C) Mustard

(D) Sunflower

The major disease of sugarcane is :
(A)  Wilt

(B) Red-rot

(C) Smut

(D) None of the above

Orobanche weed in mustard is a :
(A) Completed stem parasite
(B) Semi-root parasite

(C) Completed root parasite

(D) Semi-stem parasite

fix

Set-A



S7.

58.

59.

60.

AG-4001

TR B it W @ dErd € 57.

(A) T T
(B) &
(C) I <
(D) DT

TRATA I¢ Th g 2 58,

(A) dRIRTA
(B) W7
(C) =R
(D) A

CIEPreAl RSl & SN fhar o |abar 59

2
(A) 9 H

(B) ¥aI
(C) Tl (A) 3R (B)
(D) SWYad # | BIg T2

TR DI Bl BT HEAY DIc © 60.

(A) <THS

(B) g
(C) el 94®

(D) ST W

(19)

Leaf rust of wheat is also known as :

(A) Brown rust
(B) Black rust
(C) Yellow rust

(D) White rust

Karnal buntisa ............ disease.

(A) Bacterial
(B) Fungal
(©) \Virdl

(D) Nematodes

Trichoderma viride can be used in :

(A) Seed
(B) Soil

(C) Both (A) and (B)
(D) None of the above

Which is the most important insect of
lentil crop ?

(A) Termites
(B) Aphids
(C) Pod borer

(D) All of the above

Set-A



10.

11.

12.

Impt. :

Four alternative answers are mentioned for
each question as—A, B, C & D in the booklet.
The candidate has to choose the most
correct/appropriate answer and mark the
same in the OMR Answer-Sheet as per the
direction :

Example :

Question :

Q1T ® @ © ®
2 ® ® @ ©
W3 @ @ © ®

[llegible with  cutting
over-writing or half filled circle will be
cancelled.

answers and

Each question carries equal marks. Marks
will be awarded according to the number of
correct answers you have.

All answers are to be given on OMR Answer
sheet only. Answers given anywhere other
than the place specified in the answer sheet
will not be considered valid.

Before writing anything on the OMR Answer
Sheet, all the instructions given in it should
be read carefully.

After the completion of the examination
candidates should leave the examination hall
only after providing their OMR Answer
Sheet to the invigilator. Candidate can carry
their Question BookKlet.

There will be no negative marking.

Rough work, if any, should be done on the
blank pages provided for the purpose in the
booklet.

To bring and use of log-book, calculator,
pager and cellular phone in examination hall
is prohibited.

In case of any difference found in English
and Hindi version of the question, the
English version of the question will be held
authentic.

On opening the question booklet, first
check that all the pages of the question
booklet are printed properly. If there is ny
discrepancy in the question Booklet, then
after showing it to the invigilator, get
another question Booklet of the same series.
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11.

12.
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o TPR MR R
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w1 @ © O™
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wm: D @ © ©
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fear S |

TG T B 3F FHE 2| AP R SR
e B, I B AR 3P YIM b SR |

T ST $ad 3N TH. IR, ST-T98 (OMR
Answer Sheet) WX 2 fo o 8| Sw-uAe A
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STR A T8l 81 |

3. TH. R, STR-U36 (OMR Answer Sheet) W
o N fore 9 7@ I A T W0 argeul
AaIgdd U foram S |

e T & SW Wendf w7 Red Bl
3T OMR Answer Sheet SUTE XM & I
B T P F WRAH By | qRemeff o W
TE-QRAHT o S A ¢ |

ferife mifd T8 2 |
5 W X6 PR, TH-YRADET T 3 H, H-BR
& foru oy w@relt U1 W & fdan S ARy |

URIET-eT ¥ ANT-geb, Defdeicy, UoR a2l HegerR

B o ST 9T SHBT SN AT Iroid 2 |

7 & Rl U9 Ul wUrRer § f=Tar 89 @l
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